+ 1 eil resto - Calcola quoziente e resto delle seguenti divisioni (n € N).

-2+ 241 Bl (By'+3y°—2y+1):(y+5)
[ ]e)
B (x*+3x*—4):(x*—4)
BEE (154°—8a>—9a+2):(3a+2)
o0

lel grado de] -
B (5a°+15a°+20+5a):(a+3)

i3

Py(x) e Py(x) (7a—a*+2+a?) :(a%+2)

e R, diversi. £
O B [ I (e —x— 3): (e x)
v E 00
V] |
VR 507, (8x3—4x+1):<x——21~>
miC (1625 — 822+ 22— 1) (£ — 1)

s(x) and ( (et G a )i (=)

(y*+ 55 —2):(3y*+2y)

(2a*—4a*+a+2):(2a*+a—1)

fre. Si divi
isultato. Cl

(a*+ 6a>—4a>—4a+1): (—%—k a3)
g s fors G-t g)i(-30-3)

\rchimede, 2

(F=2F1):(2+ 1)

() I 2+ -+ 397+ ) (4 +2)

(2° — 3x%+ 56 — 222 + 6x— 10) : (x* — 2)

(%x4+%x2—2x—2):(x2— 2)

2gno,

O

(o0t - 6b3+%) : (%b —%)

\

(0,5 + 1,56 — x2— 1) : (1 — 3x + 2x2)

L&

(=3y*+ 14y — 13)2+2): (32— 2y — 1)
(4x° + 18 — 3x): (—x+ %)
(a4+%a3+6a+2):(2a3+%>

| (24y° — 49— 18)2 + 155 —2) : (65 — 1)
| (O P x2) (a3 — x™)

:(3a5” e 9613" o 6@2”) ; (3a2n L 6(1”)

Paragrafo 5. La divisione fra polinomi

[Q=3y’—12y*+ 60y — 302; R = 1511]
[Q=x*+7;R=24]
[Q=5a*—6a+1;R=0]
[Q=5a°+5R=5]

[Q=—a+1;R=94]

[Q=8x*+4x—2; R =0]
[Q=16x*—8 R = 16x>+ 2x— 9]

[impossibile]

5 e
[Q=-3:R=Fa-5]

e Pi=icite 210 D
[QA¢1—4‘R~611 3 4a 3]
=3 bt—2b+ ,R=—b+4
[Q~—7 —2b+L;R==b+3

[Q=x"—2x; R=2x+1]

[Q=x*—3x+5R=0]

[Q=—p'+4y-2R=0]
[Q=—4x*-2x+2;R=17]
17 17

1
[Q:7{1+?;R:T(1+T

[Q=4y"—3y+2;,R=0]

[Q=a%+2a"+a" R = 0]
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ESERCIZI




